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1. Using BIDMAS , find the value of :
(a)  (3 + 2.5) X 4        (b) 2.5 + 1.5 X 5        (c)  5 X 2.8 - 2 X 1.3        (d)  (2.59 + 1.32) X 100 
                22                             10                                  11.4                                      391
( Brackets  Indices  Divide  Multiply  Add,  Subtract    Order of operations )

2. Yesterday, I bought 2 tins of Tile paint costing £10.29 each,
       1 Tin of wood stain costing £14 and a set of paint brushes for £6.
       How much change did I get from £50?                  £9.42

3. Insert  ≥ or ≤ between each pair of numbers to make the statement true :
(a)  5   ≥   2      (b)  2.9  ≤   5.7          (c )  5   ≥ -10          (d)  -3  ≥   -4

4.  Put in order, smallest first :
0.34     0.11     0.28     0.06     0.53
0.06     0.11     0.28     0.34     0.53

5. Ellie got a discount of £28.95 when she bought a new jacket.
She paid £58
How much did the jacket originally cost ?           £86.95

6.                                    2.4
                             1.3                    1.1
                0.5                         0.8                    0.3            
Find the numbers in the spaces above by adding the two numbers below.
